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1) TRADE THEORY

Question No. 1/ Question ID 22 Marks: 2.00
What is the use of air ratchet wrench?

TR Yae 59 &1 SuaiT 1 82
(A) O High speed and more torque (Chosen Option)
3= T 3R 31 €l (Chosen Option)
(B) O More torque
3ifere <l
(C) O Low speed
et T
(D) O High speed and less torque (Correct Alternative)
3= Tfd 3R FH D (Correct Alternative)

Question No. 2 / Question ID 146 Marks: 2.00
What causes water dripping from the tap even after it is closed?

7 §¢ 81 & dIg U 9d ¥ U TUSH &1 T HRU 52
(A) O Defective washer (Correct Alternative) (Chosen Option)

SI9YUf 9IXR (Correct Alternative) (Chosen Option) Glnhal iTi

(B) O Loose valve
GIGICE]
C) O Splndle thread wornout
U o g &
(D) O Bend spindle
IS BT JS Sl

Question No. 3 / Question ID 224 Marks: 2.00
Where are worm and worm gears used?
o 3R o IR BT IUANT Haf T ST 32
(A) O Used in centre lathe
&g TRIG | IUANT 51 STl §
(B) O Used in oil pumps
o Uut & ST fohar ST §
(C) O Used in index head gear mechanism (Correct Alternative)
3’@{3’\‘1 %S’ froR 93 9 Sy foa siran % (Correct Alternative)

(D) O Used in automotive differential gear boxes (Chosen Option)

femIRma R afey & S fasar S| 8 (Chosen Option)

Question No. 4/ Question ID 5 Marks: 2.00
Which key is useful for fitting on tapered shafts?
CUS WMUE WR e & oy o1 W &t Suanh g7
(A) O Woodruff key (Correct Alternative) (Chosen Option)
qs¥h 3| (Correct Alternative) (Chosen Option)




(B) O Flat saddle key
e ISd B

(C) O Feather key

(D) O Gib head key

Question No. 5/ Question ID 45

Why manual stroking is preferred for large quantities in honing operation?

ST ST & SS) AE & forg Agaret Wifeh T ol U b ot 872

(A) O To reduce maintenance cost
@G AT DI HYH HA & g

(B) O To keep close tolerance (Correct Alternative) (Chosen Option)

FH T[T G ﬁl‘E (Correct Alternative) (Chosen Option)

(C) O To reduce cost

ANTd &H DR & fofe
(D) O To reduce time

AT D] HH B & [T

Marks: 2.00

Question No. 6 / Question ID 54
Which grade of slip gauge is used for inspection?

fAteror & forw forg I & f&qu 191 &1 IuanT fosan i 872

(A) O Grade ‘0’ accuracy (Correct Alternative)
Grade ‘0’ accuracy (Correct Alternative)

(B) O Grade | accuracy
Grade | accuracy

(C) O Grade Il accuracy
Grade Il accuracy

(D) O Grade ‘00’ accuracy (Chosen Option)
Grade ‘00’ accuracy (Chosen Option)

Marks: 2.00

Global iTi

Question No. 7 / Question ID 129
Which bearing material is an alloy of tin or lead-based?

DI 1 foafr anmht fo ar i snenfed firy erg 82
(A) O Cadmium-based alloy

o iy 41g
(B) O Sintered alloy
Ricxgad fagung
(C) O White metal (Correct Alternative)
YTq (Correct Alternative)
(D) O Aluminium alloy (Chosen Option)
&Y 41g (Chosen Option)

Marks: 2.00

Question No. 8 / Question ID 116

Which ball bearings are used to accommodate slight misalignments of the shaft?

Marks: 2.00

I & AT HISETSTHE B FHTAING HRA & [o7E S ¥ §id ST BT SUANT {5 ST g2

(A) O Self allgnlng ball bearing (Correct Alternative) (Chosen Option)
a-IfQd ara saf (Correct Alternative) (Chosen Option)

(B) O Ball bearing
ElN}




(C) O Double row ball bearing
Sod U diet 9aiT
(D) O Plain bearing

Question No. 9 / Question ID 191 Marks: 2.00
What is the name of the gear shown in the figure?

for 7 fezam U R &1 A @ 872

Global iTi

(A) O Hypoid gear
greule R

(B) O Spurgear
TR TR
(C) O Herring bone gear
R

(D) O Mitre gear (Correct Alternative) (Chosen Option)
firR (Correct Alternative) (Chosen Option)

Question No. 10 / Question ID 280 Marks: 2.00
Which system has categorized wick feed lubrication?

{3 Juneht = fae Wie e &I afigd [har g2
(A) O Splash feed
TR BT

(B) O Gravity feed (Correct Alternative) (Chosen Option)
wis (Correct Alternative) (Chosen Option)




(C) O Hand feed
RIS

(D) O Force feed

Question No. 11 / Question ID 308
What is the purpose of foundation bolts in machine errection?
TR & forT BrESRM diee &l SHTaRT® &2
(A) O To increse the productivity
gl dl del-l
(B) O To hold the machine firmly (Correct Alternative) (Chosen Option)
= &t 'H\‘rli'tﬁ I Yh ST (Correct Alternative) (Chosen Option)
(C) O To improve the machine life
CARCICHE]]
(D) O For better performance

UeeF & forg

Marks: 2.00

Question No. 12 / Question ID 274
What is the name of the lubrication system shown in the figure?

o o guIfS 7S W YuImel &1 =19 1 872

(A) O Gravity feed

Marks: 2.00

Global iTi




(B) O Wick feed (Chosen Option)
faw fiee (Chosen Option)

(C) O Ring oiling
e srmafe

(D) O Splash lubricating (Correct Alternative)
(Correct Alternative)

Question No. 13 / Question ID 242
Which valve controls the direction of the flow of fluid?
DI I dTed 59 & U8 DI o= &I el Har g2
(A) O Non-return valve (Chosen Option)
R ot ared (Chosen Option)
(B) O Pressure control valve
CCICAEREICIE|
(C) O Flow control valve
YaTg {20 ared
(D) O Directional control valve (Correct Alternative)

fe=mer® v 9169 (Correct Alternative)

Marks: 2.00

Question No. 14 / Question ID 18
Which file used for delicate and intricate work?
A% 3R Sfed &Y & T ®F I WIgd BT IUdIT 6T Sirar g2
(A) O Warding file
HRIEN
(B) O Pillar file
OeR tred
(C) O Swiss pattern file (Correct Alternative)
WIgd (Correct Alternative)
(D) O Dread naught file (Chosen Option)
g—s qic ®wRd (Chosen Option)

Marks: 2.00

Global iTi

Question No. 15/ Question ID 147
What is the name of the pipe fitting shown in the figure?

for 7 gifu 70 Uty OB sgen &1 =M 1 82

Marks: 2.00




(A) O

(B) O

(€)O

(D) O

Plug (Correct Alternative) (Chosen Option)
W (Correct Alternative) (Chosen Option)
Coupling

YiH—q

Concentric reducer

HTCH RS

Reducer

TSR

Question No. 16 / Question ID 178

How the tension of belt between two fixed pulleys are adjusted?

&l fRRR geelt & &t e &1 a1 H3 JHISTT fda STl 872

(A) O
(B) O
(€)O

(D) O

By sliding the pulley
CIRSIESERCY

By adjusting the screw of pulley (Chosen Option)
& TP DI TSSRE HRab (Chosen Option)

By adjustlng the length of beIt

deT Bl Q'1®II$ ﬁ USE e PP

By fixing idler pulley (Correct Alternative)
3 frog b (Correct Alternative)

clobal i

Marks: 2.00

Question No. 17 / Question ID 195
Why the face of pulley is “Crowned” in power transmission?

OTeR TR & geft &1 By "shTa" o 81T 872

(A) O
(B) O
(€)O

(D) O

Allows free rotation in pulley (Chosen Option)

geft & god g0 B! SFAR T § (Chosen Option)

Keep the belt centralised (Correct Alternative)
I Bl aﬁaﬁ EECER:] o (Correct Alternative)
Decrease the tension

a-1d HH HRA & folg

Increase the tension

GEIGKHECAY

Marks: 2.00




Question No. 18 / Question ID 167
What is the name of the clamp shown in the figure?

for 7 feamy 71U Feivg 7 ATH a1 B2

(A) O Wedge clamp
oS iy

(B) O Toggle clamp
HUNES]

(C) O Screw clamp (Correct Alternative) (Chosen Option)
P FAY (Correct Alternative) (Chosen Option)

(D) © Cam clamp
&Y &Y

Marks: 2.00

Global iTi

Question No. 19 / Question ID 109
What is the name of the part marked as 'X' shown in the figure?

o # fezame U ) & wu A Rfgd Ui o1 A R g

Marks: 2.00




(A) O Thread gauge

(B) O Workpiece (Correct Alternative)
3{dYdq (Correct Alternative)

(C) O Ring gauge (Chosen Option)
FUKIE] (Chosen Option)

(D) O Plug gauge
ISHUEI]

Global iTi

Question No. 20 / Question ID 28
Which file is used for silversmith's work?
Ry & S & [T ITART DI S a1l BIgd BT A9 Jadrsu|
(A) O Warding file

HRIEN
(B) O Riffler file (Correct Alternative)
e wrgd (Correct Alternative)
(C) O Pillarfile
fOceR s
(D) © Min saw file (Chosen Option)
IGERIES] (Chosen Option)

Marks: 2.00




Question No. 21 / Question ID 149 Marks: 2.00
What is the name of the pipe fitting item shown in the figure?

fom 7 guifu 7 Uy ffeT angen &1 A w1 82

(A) O Plug Glohal iTi

LSl
(B) © Concentric reducer (Chosen Option)
e RETIR (Chosen Option)
(C) O Coupling
giHq
(D) O Reducer (Correct Alternative)
(Correct Alternative)

Question No. 22 / Question ID 232 Marks: 2.00
Which term refers to the wear and tear of gear tooth due to extreme loads and notches?

DI 1 W5 AARH HR 3R TRIT & BRI TR ¢Y BT ge-Fe B Ualid Rl g2
(A) O %Sj?ing

(B) O Fatigue breakage (Correct Alternative)
YHE dbol (Correct Alternative)

(C) O Rippling
RfafeRT

(D) O Cold flow (Chosen Option)
oiid vaTe (Chosen Option)

Question No. 23 / Question ID 244 Marks: 2.00
Which device used to remove dust, chips and other foreign particles from the fluid?

%3 ¥ 4d, foreg iR 31 fae=h &l ! gem & o fhy Iuedur &1 Ui far ST g2




(A) O Pressure regulating valve
dled
(B) O Regulator

(C) O Accumulator

(D) O Filter (Correct Alternative) (Chosen Option)
freex (Correct Alternative) (Chosen Option)

Question No. 24 / Question ID 82 Marks: 2.00
Which process is adapted to add cutting ability and wear resistance on steel?

WA IR BTe DI &HdT 3R U1 & UfeR1Y B g & fore oI It ufehar 3iu-rs St 872
(A) O NPrmaIis_ing
(B) O Tempering
SR
©) O Anngaling

(D) O Hardening (Correct Alternative) (Chosen Option)
(Correct Alternative) (Chosen Option)

Question No. 25 / Question ID 36 Marks: 2.00

Which instrument is used in measuring the external diameter shown in the figure?
fort & faame 70 S16<t oI &1 A1UA # {69 SUHRUT 1 SUANT a1 ST 872




Global iTi

(A) O Parallel leg caliper
TRAT T BT

(B) O Pair of special jaws by using slip gauge (Correct Alternative) (Chosen Option)
TS BT UGN P fa=iy GIE@{ 3| \_rﬁ'eﬁ (Correct Alternative) (Chosen Option)

(C) O Vernier caliper
R dreftod

(D) O Outside caliper
3MICHZS PIAW

Question No. 26 / Question ID 267 Marks: 2.00
What is the name of the valve symbol shown in the figure?

for 7 g=1fT 7T ared forg &1 T R 82




(A) O Roller valve
AR dled

(B) O Pressure control valve
&a9 g fg

(C) O Non-return valve (Correct Alternative) (Chosen Option)
Ar-Re area (Correct Alternative) (Chosen Option)

(D) O 3/2 way valve Glnhal iTi

3/2 XM dled

Question No. 27 / Question ID 180 Marks: 2.00
Why aluminium is used widely in aircraft industries?
fauT S & U U o TegHia| &1 IUanT &df fhar ST g2
(A) O Light weight (Correct Alternative) (Chosen Option)
g ol duld (Correct Alternative) (Chosen Option)
(B) O More strength
3{fereh b
(C) O Hard and Brittle
1S 3R fyea
(D) O Low thermal conductivity
DHH AU ATeTehdl

Question No. 28 / Question ID 319 Marks: 2.00
Which consists of a bridge that is constructed from several girders supporting travelling hoist?
I B 91 Jd & Il AT B aTdl 8133 B UERT o aldl d Tox! U HiHd gidl 872
(A) O Frame derrick crane (Chosen Option)
El (Chosen Option)
(B) O Floor crane

(C) O Jibcrane
IECEE]




(D) O Over head crane (Correct Alternative)
| (Correct Alternative)

Question No. 29 / Question ID 99 Marks: 2.00
What is the name of the part marked as ‘X’ shown in the figure?

o # fezame 7w ) @ Rifgd HiT &1 98 a1 82

Global iTi

(A) O Innerrace (Chosen Option)
STRW (Chosen Option)
(B) O Ball
CINCE]

(C) O Outerrace
IR ™

(D) © Ball separating gauge (Correct Alternative)
o AT Aw (Correct Alternative)

Question No. 30 / Question ID 50 Marks: 2.00
Which surface is being lapped using the split bush shown in the figure?

forr 7 q=ife 77U fRete §=1 1 SUTIT B by g Bl AU {3 S 28T -2




Global iTi

(A) O Flate surface
quct 9dg
(B) O Internal cylindrical surface
' dde
(C) O External cylindrical surface (Correct Alternative) (Chosen Option)
qTed ITATPR Hdg (Correct Alternative) (Chosen Option)
(D) O External taper surface
EIGIERIRGH

Question No. 31 / Question ID 286 Marks: 2.00
Which cutting fluid is used for turning copper?
e &1 e B3 & fore forer Rt uered &1 SuanT fasan i g2
(A) O Soluble oil (Correct Alternative)
aa (Correct Alternative)
(B) O Kerosene (Chosen Option)
P ad (Chosen Option)

(C) O Lardall

A
(D) © Mineral oll




Question No. 32 / Question ID 93 Marks: 2.00
What is the name of the limit gauge shown in the figure?

forr o ife 7 Har 7 &7 T @ R?

Global iTi

(A) O Plain ring gauge
ISEARUKII]

(B) O Progressive plug gauge (Correct Alternative) (Chosen Option)
TRIRE @ I (Correct Alternative) (Chosen Option)

(C) O Taper plug gauge
SR @R ISl

(D) © Double ended plug gauge
S9d U8 S W

Question No. 33 / Question ID 200 Marks: 2.00
Which coupling prevents relative motion between two shafts?
B T HURHT &1 WTUT P ST qTAe] T BT Aehell 872
(A) O Universal coupling (Chosen Option)
PUFHT (Chosen Option)

(B) O Rigid coupling (Correct Alternative)

1T (Correct Alternative)
(C) O Clamp coupling

Y HUferT




(D) O Safety coupling
QU HUleiT

Question No. 34 / Question ID 35 Marks: 2.00
Which abrasive is used for lapping soft steel and non-ferrous metals?

R T 3R 37ai1g YTt dI T HRA & o fovq Sraasies o1 SUTNT faa SiTdT 872
(A) O Diamond

(B) O Silicon carbide
ISINCARKCACIES]
(C) O Fused alumina (Correct Alternative) (Chosen Option)
WS E?{lﬂT-IT (Correct Alternative) (Chosen Option)
(D) O Boron carbide

Question No. 35/ Question ID 76 Marks: 2.00
Which type of key is screwed on to the shaft key way?

MU H1-3 R 5T YR P ol TS Sl 872
(A) O Hallow saddle key
Jsd B

(B) O Feather key (Correct Alternative)

) (Correct Alternative)
(C) O Circular taper key
IR &l

(D) O Flat saddle key (Chosen Option) GI h I 'T'
q@?ﬁ@ﬁﬁ(Chosen Option) 0 a I I

Question No. 36 / Question ID 253 Marks: 2.00
Which valve permits fluid flow in one direction and block flow in opposite direction?
DI T dTed U 3= H 59 UaTe &1 SrAfd dat § SR fausia fomn o vareg &) sfass #ar 82
(A) O Pressure relief valve
dled

(B) O Flow control valve (Chosen Option)

3R b dTed (Chosen Option)
(C) O Shuttle valve

R[cd died
(D) O Check valve (Correct Alternative)

AP aTed (Correct Alternative)

Question No. 37 / Question ID 296 Marks: 2.00
Which property of lubricant readily separates water from the oil?

WEP BT HI T 0T O B a0 I AT F ST HR <l 87
(A) O Emuilsification

(B) O Viscosity (Chosen Option)
YAl (Chosen Option)
(C) © De-emulsification (Correct Alternative)
e 1 e (Correct Alternative)




(D) O OQiliness

Question No. 38 / Question ID 75

DI T UTg HIFET YT Pt TRa! B! YR YT TR A HRb B St g2
(A) O Molten metal bath (Chosen Option)
Ted 1Y (Chosen Option)
(B) O Cladding (Correct Alternative)
5T (Correct Alternative)
(C) O Enamelling

(D) O Spraying

Which metallic coating is done by rolling the layers of metal on to base metal?

Marks: 2.00

2) WORKSHOP CALCULATION SCIENCE

Question No. 1/ Question ID 335

I T BT 7TH T 7, Tl I P 723°C W TH fha1 SI1dm 82
A) O Cementide

(B) O Ferrite (Chosen Option)
URISC (Chosen Option)
(C) O Martensite

(D) O Austenite (Correct Alternative)
(Correct Alternative)

What is the name of the structure formed, if a steel is heated for about 723°C?

Marks: 2.00

Global iTi

Question No. 2 / Question ID 338
What is the name of a booklet, the rates of various terms are indicated?
qfIeT &1 T8 &1 8, forad fafi=T ot o1 Tahd foa o 82
(A) O Price tag
PR ERIED
(B) O Price catalogue (Correct Alternative) (Chosen Option)
g '{Eﬁ (Correct Alternative) (Chosen Option)
(C) O Price bank
T 3%
(D) O Price bunch
Hed =0T

Marks: 2.00

Question No. 3 / Question ID 322

What is the direction of frictional force against a motional object?

foeht TR aXg & favg ovi0T 9a 3t fo=n w182

(A) O Perpendicular to the object
I o dHEad

(B) O Parallel to the object
I b JHIMR

(C) O Opposite to the object (Correct Alternative) (Chosen Option)
a¥q & 9THA (Correct Alternative) (Chosen Option)

Marks: 2.00




(D) O Inclined to the object
a%] & T s=gh

Question No. 4 / Question ID 324 Marks: 2.00
What is the purpose of a lubricant?
VD BT 3L T 872
(A) O To reduce pressure

<dId Bl HH B & folg

(B) O To increase friction
YU B d¢H & forg
(C) O To increase the pressure
QETd g o forg
(D) O To reduce friction (Correct Alternative) (Chosen Option)
qfUr B FH HEA B ﬁl‘l‘{ (Correct Alternative) (Chosen Option)

Question No. 5/ Question ID 339 Marks: 2.00
What is the other term of pocket reference in engineering works?
SoNfafTT Al § fdhe Whd BT guRT Xeq T 87
(A) O Hand book (Correct Alternative) (Chosen Option)
(Correct Alternative) (Chosen Option)

(B) O Hand tool

T 3Ok
(C) O Good book

Is g

VO T Global iTi

Question No. 6 / Question ID 325 Marks: 2.00
Which is used to reduce the friction in machine parts?
A=A YT & 907 B HH B & o et Iudi e i g7
(A) O Petrol
(B) O Lubricants (Correct Alternative) (Chosen Option)
'@W (Correct Alternative) (Chosen Option)
(C) O Kerosene
foret &1 qd
(D) O Water

3) ENGINEERING DRAWING

Question No. 1/ Question ID 357 Marks: 2.00
Objects that are symmetric can be shown effectively using this type of section
3T UBR P ATHIT BT SUTNT HReb JATT IE3iT BT THTet &1 ¥ feaman S g B
(A) O full section
QO SR
(B) O half section (Correct Alternative) (Chosen Option)
SITYT IJHIT (Correct Alternative) (Chosen Option)

(C) O quarter section
agY ST




(D) O symmetric section

AT STURT

Question No. 2 / Question ID 356
This type of section is limited by a break line____
S UHR B SIHUNT TH s e RIS |
(A) O revolved section.
RYHT S{FUFT
(B) O half section
SITYT SHJHIT
(C) O removed section

ST 7T ST

(D) O broken-out section (Correct Alternative) (Chosen Option)
G CI-831T SIJHIIT (Correct Alternative) (Chosen Option)

Marks: 2.00

Question No. 3 / Question ID 361

Which nut can be easily operated with thumb and finger?
O 3RS SR ITTelt T ST § Tanferd foran ST w872
(A) O Dome nut

SEEH
(B) O Wing nut (Correct Alternative) (Chosen Option)

farae (Correct Alternative) (Chosen Option)
(C) O Capstan nut

qc

(D) O Lock nut

NIEZE

Marks: 2.00

Global iTi

Question No. 4 / Question ID 352
The Included angle of pipe thread is around

TISY 9 BT M B0 AR 3R B
(A) O 75°
75°
(B) O 10°
10°
(C)O 15°
15°
(D) O s5° (Correct Alternative) (Chosen Option)
55° (Correct Alternative) (Chosen Option)

Marks: 2.00

Question No. 5/ Question ID 358

In this type of section, one quarter of the object is removed....

U UHR & WS | a¥g o1 Ud ArdTs HIT gl a1 SIra |
(A) O quarter section (Chosen Option)
Elﬂ?f S{JHIT (Chosen Option)
(B) O half section (Correct Alternative)
SITYUT 3JHIT (Correct Alternative)
(C) O revolved section
RYH S{FUNT

Marks: 2.00




(D) O removed section
BT T HJHIT

Question No. 6 / Question ID 360 Marks: 2.00
The thread angle of B.S.W screw threads are____

BSW ¥ 959 & U T gl
(A) O 60° (Chosen Option)
60° (Chosen Option)
(B) O 45°
45°
(C) O 30°
30°
(D) O 55° (Correct Alternative)
559 (Correct Alternative)

4) EMPLOYABILITY SKILLS

Question No. 1/ Question ID 415 Marks: 2.00
What are some advantages of informal communication at the workplace?
T R FABIHA HRAGI & T AH 572
(A) O Creates a strict environment at work
TR e ATdTaRYl ST §

(B) O Makes people talk less
[ 1 1 §1d B ST §

(C) O Makes trg;g:ﬂ\%og (%fgl:ll_fg%work W% Glnhal i.I.i

(D) O Helps people work together better (Correct Alternative) (Chosen Option)

f Y Tk 1Y TP 9gaR 71 A T B A Heg fAad! @ (Correct Alternative) (Chosen
Option)

Question No. 2 / Question ID 582 Marks: 2.00

When a manufacturer trying to make a better school bag using design thinking. What would be the next
step after understanding the students need ina bag’?

d Pig Al fEoe fifdh 1 IUTnT dxdh Th 98k Ipd 97 §-H &1 DI HR 6T § a9 faanfial ol
TH ST ! SIIHAT THIH & F1G e WU T GRT?
(A) O Plan different bag designs (Correct Alternative)
fafarer 9 fesrg=Y &) W= 99T (Correct Alternative)
(B) O Ask students to test the bags (Chosen Option)
faenfial @ 971 &1 ¢ B Y gl (Chosen Option)

(C) O Choose the colour of the bag
CUECIRURCCE

(D) O Choose the material for the bag
97 & o weRad g

Question No. 3 / Question ID 396 Marks: 2.00
Fill up the blanks with suitable words so as to become a meaningful sentence.
There are many dos and don'’ts to be while preparing for/attending an

et R &) IRrd Weal § W A1l U Wrdfh a1y 97 9 |

There are many dos and don’ts to be while preparing for/ attending an




(A) O there, interview
there, interview
(B) O identified, interviewed
identified, interviewed
(C) O identify, interview (Chosen Option)
identify, interview (Chosen Option)
(D) O identified, interview (Correct Alternative)
identified, interview (Correct Alternative)

Question No. 4 / Question ID 444 Marks: 2.00
How have workplaces changed after COVID?
PIAS & IG PRIVIA HY TG MY g2
(A) O Less job opportunities (Chosen Option)
& HH AW % (Chosen Option)

(B) O No focus on technology

CaIdTol IR Bls By Tl 8
(C) O Mix of in-person and at-home work (Correct Alternative)

fRITd 3R T P BT fAYUT B (Correct Alternative)

(D) O Flexible in working hours is nil

B & °el § detena Y- &

Question No. 5/ Question ID 619 Marks: 2.00
If you want to start a bakery business, what would you focus on first in your business plan?
g 3T IPH<] I Y= BT A18d &, Al 3T S0 ey @ § Ty Ugd e IR & ¢i?
(A) O Calculating how much money need to start the business (Correct Alternahlﬁ?ﬁen

Option) \gl iTi

oMY 3= F31 & e fram U9 ot siewd gl 391 ITUHT HIAT (Correc
(Chosen Option)

(B) O Selecting a catchy name for the bakery
IHRL & foT8 T Sy A1 BT a7 BT
(C) O Planning how to advertise the bakery on social media
areret Hifsar iR 96 &1 faee & g S, 396! AT a1

(D) O Figuring out how the business will grow

TdT T b fooma &9 sigm

Question No. 6 / Question ID 402 Marks: 2.00
The word 'resume' comes from French and means
IgH' Teq Thd HTHT ¥ 11T § 3R 39T oref g
(A) O education
fRrem

(B) O experience (Chosen Option)
3{JHd (Chosen Option)

(C) O placement
L Ratar

(D) O summary (Correct Alternative)
H'éﬂ'q (Correct Alternative)

Question No. 7 / Question ID 454 Marks: 2.00
What does self-employment mean?

WASR 1 T 31 82




(A) O Working part-time from home
TR Y UIE TT3H HIH BT

(B) O Receiving a fixed monthly salary
Te [Af%d Tiies dd= Ut &=

(C) O Working for a single employer

THd THARR & folT SR AT

(D) O Working independently and earning directly from your work (Correct Alternative) (Chosen
Option)
WaT ©U F BT AT 3R H 3rq9 HTH F HHTS BT (Correct Alternative) (Chosen
Option)

Question No. 8 / Question ID 537 Marks: 2.00
Learning a new skill to do fundamentally the same nature of task is called
Td U JHH UHA & B BT B & (g 791 DI=Ied SRg1 HEAd §

(A) O Reskilling (Chosen Option)
7T (Chosen Option)
(B) O Technician
SR
(C) O Semi-skilled
(D) O Upskilling (Correct Alternative)
1T (Correct Alternative)

Question No. 9 / Question ID 479 Marks: 2.00
A computer system consists of p—
(A) O circuit diagram
SIAIH

(B) O hardware and software (Correct Alternative) (Chosen Option)
grSdur 3R AT AR (Correct Alternative) (Chosen Option)
(C) O software and program
e adR SR U™
(D) O mouse and keyboard
A3 3R HIarS

Question No. 10 / Question ID 540 Marks: 2.00
What should be avoided during an interview?
SR & TR forT el I s A1fgu?
(A) O Answer clearly and loudly
WE TG AR A IW G
(B) O Look somewhere and answer (Correct Alternative) (Chosen Option)
el 3R o 3R T 4 (Correct Alternative) (Chosen Option)
(C) O Maintain eye contact
317 ¥ VYD F 1
(D) O Greet the employer with a smile
TR ] TIPRIEC & 1Y Ui By

Question No. 11 / Question ID 519 Marks: 2.00
While applying for a job through email, what are the documents need to be attached?

SHA & HILgH ¥ A1 & A fTde Hd THY, DI U STHgHCH i T B ATTIHT 872




(A) O Birth certificate
S YHTOTUA

(B) O Address Proof
o gHor U

(C) O Resume, Course and Training Certificates (Correct Alternative) (Chosen Option)
EITCﬁS'IET, P 3R ufRreor yHTOTOS (Correct Alternative) (Chosen Option)

(D) O Photographs from childhood
CERC IR

Question No. 12 / Question ID 503 Marks: 2.00
What is the basic requirement for IT related work?
IT § T w1 & e gqayd snawadsd &1 82
(A) O Computer (Correct Alternative)
HER (Correct Alternative)
(B) O Browsing

©) O Ipternet

(D) O IT companies (Chosen Option)
IT Ul (Chosen Option)

Question No. 13 / Question ID 447 Marks: 2.00

What is an important future workplace skill for employees?
HHATNG] & o T &7 Ae@yul SRS BRI a7 g2
(A) O Networking and relationship-building (Correct Alternative) (Chosen OptlonGI h I T

Aeafd ey fawfor s (Correct Alternative) (Chosen Option) 0 a I I
(B) O Doing manual work

Y3 Ib AT
(C) O Doing paperwork

PRl
(D) O Planning holidays
‘ CEIEI

Question No. 14 / Question ID 409 Marks: 2.00
Which of the following is a formal introduction in a job interview?
fafied & § SF A1 <) AeT@R T Ui (i) uRed g2
(A) O "Hi, whats your name?"
"8, 3MTUHT =TH HT 52"
(B) O "Hey, nice to meet you!"
g, Y AdR 3resT T
(C) O "Good morning. Thank you for the opportunity.” (Correct Alternative) (Chosen Option)
"JUHT, AR ¢ & foTT <=aa1E 1" (Correct Alternative) (Chosen Option)
(D) O "hello.. You can start the interview!"
"gal... 3T TR & TR THhd gl"

Question No. 15/ Question ID 558 Marks: 2.00
Which of the following is self-management skills?

Fafifad & 3 S a1 Jem-AAeie Rpd 82




(A) O Writing skill

(B) O Listening skill
feraf-1 fepa
(C) O Adaptability and Flexibility (Correct Alternative) (Chosen Option)
(Correct Alternative) (Chosen Option)
(D) O Speaking skill
Wifht1 Repet

Question No. 16 / Question ID 492 Marks: 2.00
What is the standard way in which computers connected wireless?
HIR! B! IARAY TR ° Hde B P AHED dibT ol 52
(A) O WAN
WAN
(B) O LAN
LAN
(C) O Wi-Fi (Correct Alternative) (Chosen Option)
Wi-Fi (Correct Alternative) (Chosen Option)

(D) O ISP
ISP

Question No. 17 / Question ID 560 Marks: 2.00

When a machine operator suddenly face a problem, and quickly finds another way to do the work is
called as

S Ueb HR SHTIRCR b1 (b (b2l FHET BT HIHAT BT TSl 8, 3R T8 ¥ DIH b BT g8 b _
(A) O Adaptability (Correct Alternative)
(Correct Alternative)
(B) O Sincerity (Chosen Option)
(Chosen Option)
(C) O Honesty
3{TAE

D) O Iptegrity

Question No. 18 / Question ID 618 Marks: 2.00
If some one wants to apply bank loan for their business, their business plan should have
g DI 3O ST & oY §F T IS HRAT 18 6, o SUD! oor- @ o HEIEIRY

(A) O total cost of the business without any details
famT forefl feeed & forei9 &t o arTd

(B) O challenges about the business along with solutions (Correct Alternative) (Chosen Option)
I & aR | T:-Fﬁﬁ'{ﬁ & Y-y T i (Correct Alternative) (Chosen Option)

(C) O business profit details
farerg Uifthe f&ca

(D) O have only the idea and name of the business

ISP faeg BT Had ST 3R 1

Question No. 19 / Question ID 610 Marks: 2.00
An entrepreneurial mindset means to

I AHRS T &7 31 &




(A) O

(B) O
(€) O

(D) O

identify opportunities and Use them for your benefit (Correct Alternative) (Chosen Option)
[ &1 ggaT ST 3R 3% U AH & fﬁt{ SUYRT HAT (Correct Alternative) (Chosen

Option)

not setting any goal

DI aed AYiRa 781 B

not taking any risk

Pig KB 7 oM

think only about profit

Had AH & IR H AT

Question No. 20 / Question ID 417 Marks: 2.00
If a co-worker asks for a support with a task, proper way of responding is

e PIE TgpH! fodfl P & T Gegar AT 8, AT Ui en pISfa e ®

(A) O

(B) O
(C)O

(D) O

sure, | can help. What do you need? (Correct Alternative) (Chosen Option)

WX, § UG B ghdl § | MUD! {5 e P SRevd 872 (Correct Alternative) (Chosen
Option)

i am too busy right now.

T T I9g 9gd I ¢

send a formal request via email.

A & T 9 T MU SRy e Aot

ask, you don't even know this much?

TS, g s o e Tar?

Question No. 21 / Question ID 491 Marks: 2.00
What is called a media presentation shared over the Internet?

(A) O
(B) O
(€) O

(D) O

Live telecast (Chosen Option)
oigd NIEDE (Chosen Option)
Webcast (Correct Alternative)
ATPE (Correct Alternative)
Live media

IECRAISR)

Seminar

IR

Question No. 22 / Question ID 577 Marks: 2.00
When you do not know how to use a new machine, what will be your action?

S 3T T {2 BT STINT BT 78] S d) ST T BT B2

(A) O

(B) O
(C) O

(D) O

Ask for help and learn how to use the machine (Correct Alternative) (Chosen Option)

TETadT A 3R T P A=A BT IUURT FA BT AIRY (Correct Alternative) (Chosen
Option)
Stay silent till someone teaches you

S§ a® Dl 39! a1 781 ¢ a9 d® $S a! BT Mgy

Leave the job

Tl BIS &1 AT

Take a break and do it later

ST 9 AP 3R 91 H 3 HAT A1eT

Question No. 23 / Question ID 477 Marks: 2.00




Suggestion for green practices in the office canteen is
3iffthg S & e Dfdew &1 gama 8
(A) O Using steel plates and cups. (Correct Alternative)
3R Y T IUART BT (Correct Alternative)
(B) O Serve green vegetables. (Chosen Option)
sﬁqﬁﬂfuﬁw Chosen Option)
(C) O Delivering food in plastic packaging.
Wi Yool & HieH fadied &=
(D) O Providing lunch to the staff in disposable plates.
TIH B! fSTIolead Wil § GUgR BT Yo Iuctstd DI

Question No. 24 / Question ID 466 Marks: 2.00
Which section of the SklII Indla Dlgltal Platform helps users find physical tralnlng centers nearby'?

%ﬁ%h_cfg%m FSiored WewhH &1 I A1 IR GoR B H-UN & {Bidmd ST e FioH & Hag ol
?

(A) O Skill courses

(B) O Centres (Correct Alternative) (Chosen Option)
Tex (Correct Alternative) (Chosen Option)

(C) O Job Exchange
Sts :

(D) © Recommendations

Question No. 25 / Question ID 403 ' & o
Which of the following are included in a resume? mh“ﬁl ITI
grveTer # fufaRad § 9 o1 =mfid gidr 82
(A) O Daily routine, favorite movies, and vacation plans

2P R, Teidiar frert ok gfeat & oty
(B) O Childhood memories, dreams, and aspirations

AT B A, T 3R SMebie

(C) O Contact information, educational details, skills and work experience (Correct Alternative)
(Chosen Option)

ﬁﬁ‘.ﬁ? ﬁER'UT P 3R B 3[JHd (Correct Alternative) (Chosen Option)

(D) O Hobbies, favorite foods, and personal interests

T, qetar Hoi 3R faaTd Shy




